PART -1
1) Physics . witferhl

1. A particle of mass ‘m’ is moving in a 1. mEE F FH ¢ A F FaR T

horizontal ci ius ‘r’
rizontal circle of radius ‘r’ under a R 3= 7 _K ¥ s nf s
centripetal face equal to -l‘-, where s

' r? ST &, et k Fraien 81 For i e Il
k is constant. Total energy of the 3
particle is-
Ak Ak
2r 2
B. k : B. k
2r E 2r
c. k c. _k
.- =
D, k B X
" r
2. The electric potential at a point due 2. forg amamr 3 o et forg @
to point charge is- ﬁgﬂ‘ o 1 0 BT-
A. inversely proportional to square
A. & T & GeraTgardt
of distance : =
B. directly proportional to square of B. g & 1 3 I
distance C @%ﬁ W

C, inversely proportional to the
distance @ D. _q:.ﬁ * W

D. directly proportional to the
distance
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3. Length of a metal Wire is £, when

tension i it is T, and i £, when the

tension is T, . Natural length of the
wire is-

A. £1 +l.3

2
B, L4, ;
& 4 Ty~45, C(/ )
L-T, ¥
D. 4T, +4,T,
T,+T

Let P and E denote the linear

momentum and energy of photon, If

the wavelength is decreased-

A, both P and E increases @
B. P increases and E decrease

s
Cy P decreases and E increases

D. Both P and E decreases

If a charged particle is moved along a

magnetic field. Then magnetic force
on the particle will be-

A, along the velocity
B. opposite to its velocity
C. Perpendicular to its velocity

D. Zero ——

P

e ek e o e £, & 5 36
T T, BT £, RS T T, B A
A 3o e 1 4E A-

2

B 4 4

C. tsz'_ ZT!
T,-T

D. 4LT,+4,Ty
T,+T

ST P A E YRIEF o6 Yl He T g
Fragi ¥ af wt 2ok B R fen
-
A. Pae EQRTaail

B. P oM a9l E %4 BT _
C. P Al E T
D. PUd E i F9 a0

afe arrafira w Jrahg 26 <6 fom i
T T 21 A 39 HT QA A

e e Q-
A. o femmr s
B. o & fordia fRam 3
C. 3 e feum

D. YA
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6.  Two simple pendulums begin to swing

Y )

simultancously. The first pendulum
makes 9 oscillations when the other
makes 7 Oscillations. Ratio of the
lengths of the two pendulums is-

A.

B,

ViN Nlw

N
5N

D‘ -8_1
49

The amount of heat required to raise
the temperature of 2 moles of an
ideal monoatomic gas from 273 K to
373 K, when no work its done, is-

A, 100R B, 150R .

C, 300R D. S00R / -~
' (€I

Capacitance of three condensers are
1, 2 and 3 pf. Second and third

condensers are connected in series
and then connected in parallel with
first condenser. Combined
capacitance of three condensers will

be-
(A

Ac 2.2uf (microfarad)
B. 3.2puf (microfarad)
C. 2.5uf (microfarad)
D. 4.2uf (microfarad)

6. 2 T ST Uk Ay Qe TR W 8

for o 2 e drereh 9 Ae T
I Ty 1 g e 7 Qe o
21 2R3 Sreren ot STl =BT ST SHI-

.A'

(@]
0 |sA w
0 Hlm IN ~N|w

a9
U 1Y} CHRHTOE 1| & 2 Jid &
TG F 273 KA T 373 KFA |
T I 1 TRATOT I, 57 3 T
foram e = 1 @0-
A. 100R B. 150R
C. 300R D. 500R
fﬂqﬁmhsﬁﬁmﬂaﬁmzl,zws
IEShITS § gEY T e Hehe T
Aofiae & T YT GITRA 30 TR
g 1 il gl it ey e gt
2.2pf (TTHHITS) _
3.2pf (ATERIGS)
2.5pf (THHINATS)

a.2pf (SRINTE)

O 06 = »
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_ | v e
% The slits in a Young’s douple slit 9 W ﬁ.ﬁ?ﬁ!m ﬁ aﬁ%@
experiment have equal widgh and R & O A 3l e af
source 1s placed symmetrically with a2 = B R fed o, AT
respect to ihq slits. The intensity at Rete o s = fem SR ﬁ_f‘;qt
the central fringe is I. If ope of the NN . :
slit is closed, then the intensity at this )
point will be- A1, B. 1,/4
AL B. 1,/4 @ C. 1,/2 D #o
C, I,/2 D. 4,

10. Masses of blocks A, Band C, shovn 10 ¥Rt fe i, 55 A, BFAICF

in fig, are m, =4kg, mg =2kg and S TN my, =4kg, mg =2kg T

m¢ =3kg respectively. The mass of me =3kg Bl AT et 1 S
the movable pulley is 1kg. The 1kg 1 5671 A T 0T B0TT-
acceleration of block A is-

8] |c}
1% A g

A g 7

7 g i
B 28 a9

49 ¢ 1
C. 178 49

49 5 5
D. 3 49

49
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11. Heat energy absorbed by a gaseous 11. Eﬁh ﬁﬁ ﬁ, T g Ecop) ﬁa:’f Thg

system in going through a cyclic 5T 8 2 S & e g7 v
process, shown in fig,, is- Mﬁﬂqﬁ S
V (In ltl‘S) F 3
| | V (),
Q 30“'
10 .]. ’ 10__ O
1 —+—> P (in kPa) - —
10 ’ o
- 10 30 4 (ﬁﬁh
ITehe H)
A 107x
A. 10" =
R B. 10%z
B, 10%x) - S W
( j : o
C. 10%n) it
_ -3
D. 1073xJ P 107 @

2. The distance moved by a particle in 12. A 379 & G ATaa Tl & Tl 0T
SHM of amplitude ‘A’ in one time- ZRT Ueh 37T shied © o <6l A &t =l
period is-

A A
A. A
) ‘B. 2A
B. 2A _
C/s 4A -
D3I
D. Zero
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13,

Total internal reflection can take
place if-

~A. Light goes from opucallyrarcrto

denser medium

B. Light goes from optically dens
to rarer medium

| C. The refractive indices of the two

media are close to each other

Dz the refractive indices of the two
media are widely different

13.

wmmﬁmqﬁam%

7fe-

A w’mﬁﬁmﬁ%
nreaw 3 ST 8

B, SR, SR | AR A g
ey 3 ST 8

c. 21 aTem & AqadHiS
T ;
A

14. The arrow marked in'the symbolic 14. ZIfRet 3 i W AR weRid Fm
representation of transistor represent. e
A tedniomofflovofiolsin s i G
+
Bs the direction of flow of electrons B. I 8t i ST I
in the emitter region fam
C. the direction of flow of minority C. Jeadte & i SeqdEas A
charge carriers in emitter region s ¥ yare 6 R
D. the direction of flow of majority R
o e e : D. cqsi & 1 GgUETF Elic
h in emitter region
charge carriers in emi g e ) R
15. A block of mass ‘m’ is placed on a 15. © Wﬁ'ﬂﬁw%@ﬁﬁaﬁq(m
smooth wedge of inclination 8. The TS 1 U sciieh 1@l 8l tE: s
whole system is accelerated AR e 3 28 W it R S
horizontally so that the block doesn’t S 3 B TE TR 3
slip on the wedge. Force exerted by . g e N
the wedge on the block has a EAUESE RS EIIY g
magnitude- | A. mg
s "B 5 - B. mgsec®
B. mesecd C. mgcos6
C. mgcos© D. mgtan®
D. mgtan®
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16. A tangent galvanometer is connected

17.

18.

directly to an ideal battery. If the
number of turns in the coil jg

doubled, the deflection will-
A. increase

B. decrease

C. remain unchanged @

D, either increase or decrease

A uniform ring of radius ‘r’ and mass
per units length ‘A’ is spun about its
axis with uniform angular velocity
'0". The increase in tension in the

ring is-

A Aot @
B/» Ao’

Co rnr?

D. A2p%?

The speed of sound in a medium

depends on-

A. The elastic property but not on
the inertia property

B. The inertia property but not on
the elastic property

C. The elastic property as well
the inertia property { )

D. Neither the elastic property nor
the inertia property

16.

17.

U T ot aveat 32 &
31 81 4 el 4 Ul ot i g
<1 97 A A

A. Fm

B. FH M

C. %13 ufada 7df ern

D. & T AT FH B

‘r* Frar qar uft wFiw |9 <A Z AU
F1 U GU&Y 979 3197 3@ & 9Rd
HEY AT AT "o & U AT 2
o4 % e 3 gig St

A de?r?

Ao’r

Lo

C ror?
D. aA2x?%?
Tt ey & | < =5 ek e &-

A. ToITE T[T W W] A orad
WA

B. G UTead W W e ToTent
R TE

C. SelTed T0re O Srgeettd Torent gt
R

D. T O el Q1 Tored W e
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19.

20.

21.

Breaking stress of a wire depends on-

»)

A. mateﬁal of the wire

B. length of the wire

C. radius of the wire

Dy shape of the cross-section

A particle moves on x-axis according
to the equation x=A+Bsinmt. The

motion is SHM with amplitude-
A A |
S
C. A+B

Three point particles are located at
the vertices of an equilateral triangle
of side ‘a’. They all start moving
simultaneously with equal and
uniform speed ‘v’ with first particle
heading continually towards the
second, the second towards the third
and the third towards the first. They
will meet each other after time-

Afa

19.

20.

21.

arc e e wfvare G 1) i
& 8-

A. T uErd @
B. < el m
c. an i P o
D. 3F[IE-HIZ Y apfa W

x — 3167 U nfer e go, A R i
TR x = A+Bsinot 8171 % Uiy
afrert nifd ot 3 g-

A, A

B. B

C. A+B

“a’ [T Tel YT, [ 6 Tedeh Fy
-0 1 R @ (e i o) e
97 q%q T TREEE A v’ B TR T
T4 WehT e 31T e o, et
o i e ga ot i fRe 9l B,
A o1 o <fra it 3 e fv
et F01 1 31 e Teedt 21 P wm
T <A 0 O e
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22.

22. 5 : ¢ a%. . h
imension o is (w
Eu hc ( e EO c

notations have their usual meanings)- I R)

A M Ir3Ta A M13TA2
B. MI3T1A2 B. M3T-1A2

Cy MPLOT0A0 @ C. M®(O79A0
D' M-1 L3 Tz A D. M"l L3 TZA

23. The intensity of magnetic field due to 23. oo o ar  wafe un i & SR

current i in a long straight wire will ﬁﬁi‘uﬁlﬂ & <Y efteraT T -
be proportlonal to-

A.
A i

C .
¢ v
. 1 D. 1

i ; |
24. At absolute zero an intrinsic 24. 9 [ 9 W IES AT
- g A. FITE % G SR T &
A. behaves like an insulator 5 ik A -
B, behaves like a metallic conductor ) 2 3
C. has large number of holes ' :
» c. U B it v e At ®
D. has some holes and some :
electrons D. ¥ S Tl 791 $O TA9H T §
25. The magnetic susceptibility is 25. grarehra yafe HoMcH Bt 8-
ch;“"e e : : A. e g e & ol
aramagnetic substance on
o ammRen . B. Fdq Sfarehia gary & ford
B. diamagnetic materials only
C. Ferromagnetic materials only C. *9d Eilag e e % ford
D; Paramagnetic and ferromagnetic D. 3TFTrrhid T Aegrahid qHi
qerdi & ford

materials both
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26.

The equivalent resistance of the
network shown in fi

) |

26. Ty R i o 35 g A 9T B

 figure between =t g v -
points A and B will be- 10Q
10Q —WW—
A c 250 4 r_ 30Q -—WW‘-‘-I
| ' 30Q % | aww—
—AMWN—!
- A. 10Q
A. 10Q ( AW
4 . 1.5
B. 7.5Q o B N
c. 200 C. 20QQ
D. I90eh o & I i
D. none of above
27. A junction transistor s called bipolar 27. Wi i Rayeh e @ Hif%
device because in it- -
A. there are two junctions @ A. A uREt e
B. there are to terminals B. a m}aa %
C, two types of semiconductors P _ :
D. both electrons and holes are et
responsible for the flow of D. HNIER ¥ R A auT e
SIS AT SeET B
28. Kinetic energy needed to project a 28. mm%@ﬂgaﬁwaﬁmﬂ
body of mass ‘m’ from the earth’s aﬁaﬁqﬁ%%q?iﬁﬁ%ﬁ-m
surface to infinity is- ST St STt Bt A B
A. mgR
e A. mgR
4 AL L
. 4
5 -"%- B. mgR
@ it
C, mgR
mgR
2mgR
D. “mé D. 2mgR
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29.

3L

The capacity of parallel plate
condenser depends on-

A nature of metal ﬂ,}}

g. distance between the platck_e." -

C. thickness of plates

D, potential difference between the
plates

The phenomenon of beats can take
place-

A. For longitudinal waves only

B, For transverse waves only

C. for both longitudinal and /-
transverse waves > 7

D. For sound waves only
The output of a two input ‘OR’ gate

is zero only when-
(&)

A. both inputs are zero
B. both inputs are one
C. either input is zero
D. either input is one

The ends of rods of length ‘£’ and
radius ‘r’ of same material are kept at
same temperature which one of the
following rods conducts most heat
per second-

A. £=1m,r=1cm
B, £=2m,r=1cm
C. £=2m,r=2cm

D. £=1m,r=2cm

31.

-3

ARG ac

B. = xdmAizhm
C. =dfzE®

D. @2 % +ff= Fraarm w
froz fiaznazh £

A. A7 A am %
B. A= gy g FAa
D. #AA A g % fod

fz Fafi «OR’ iz 71 Frfa 73 FA= o
GuiecicA

A. ZFi fEdft g

B. 2RI 3 eF (1) 8

C. #EeE Fafig

D. %13 T% Fali @ (1) grm

AUF 9214 # Z31 41 oEi ‘L’ 391
Bear FE R sE AN w

mram 2 e g Fnar 2z e Iz

A. L=171 r=1381.
B. £=27% r=191.
C. L=27 r=291,
D. L=17% r=2%,
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33.

35.

A series AC circuit has g regjstance
of 4C) and a reactance of 303, The

impedance of the circuit will be-
A. 5Q

B. 12/7Q @7

C, 7Q

D. 7/12Q

1 mole of a monoatomic gas and 1

mole of a diatomic ideal gas are
mixed. This mixture is suddenly

1 ; i
compressed to Eth of its original

volume. Its temperature increases by
a factor of-

A. g3
B. g2 I
C. 81]4
D, g3/A
X-ray beam can be deflected-

A. by an electric field

B. by an magnetic field

'C. by an electric field as well as by

magnetic field
D. neither by an electric field nor by

magnetic field

. 7/12Q

. G eyl waeitass 1 % 1 A W

femomnfoas fa 3 2 dia = FBE AR
Ao R a1 35 = 3 T
e g fomm simar 21 3@
IS feberTt 70T =7g SITeT-

A g3

B. gl/2

C. gl

D. g3/4

o X-fror @ |ft-

A. Tt &= gm
B. Trrhid &7 g
C. Tordta v g 21 A g
D. forepeftr e grareiar 3t i g
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36. A ball of mass ‘m’ is dropped from
height ‘h’ on a platform fixed at the
top of a vertical spring. The platform
is displaced by a distance ‘x>, The

spring-constant of the spring is-
moO T
h
¥
A. 2mg

X

B. 2mgh

(ol 2mg(h+x)

xZ

D. 2mg(h+x)
hZ

37. A particle is kept at rest at a distance
‘R’ equal to earth’s radius above the
surface of earth. Minimum speed

with which it should be projected so

that it doesn’t return is-
A. 1
—gR
48
B. [1
—eR
28
D J2er

36. IEATR R & I erft rew W
A8 8 m Fom ¥ g ) e
ST 31 Qe x gft & freanfia € <
GRCUETECa = nic

mo ?

h
¥

A. 2mg
X

B. 2mgh

x2

C. 2mg(h+x)

x2

D. 2mg(h+x)
hZ
37. et i wag A Iuht BT ‘R’ R
S AT CI R o e R
7 F o e S 4 $eh W
9 &l Al '
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38.

39.

40.

A particle of mass ‘m’ i moving in 8
circular path of radiyg ‘r’ such that
its centripetal acceleration a. is

varying with time as ac =k?pn2,
where k is a constant. Power

delivered to the particle by the forces
acting on it is-

A, 2nmk2rit

B. mk2r2t

Which device is used to measure
B. Potentiometer

current?
C, Ammeter @

A. Voltmeter
D. Wheat stone Bridge

C. %mk“ 25

D. Zero

A particle moves with constant
velocity parallel to x-axis. Its angular
momentum with respect to origin is-

A. Zero
B, Constant @
C. Goes on increasing

D. goes on decreasing

38.

39.

40.

b

mwa@%rm%m. )
T YT 3 SR IR AT & Foh 38 TR ey
AT SRV o1 o, T 6 A9

ac =k2rt?, (k=Fraaieh) % AR
qlterfir S &1 T U AT Ty
e ufth T UH &

A. 2nmKk2 Pt
B. mKk22t | ?
© qmktRe

D. I

T T 3 R S & 90T 61 39y
for s -

A. dieeHieX

B. fanmammdt

C. i 4
D. R wH i

T 0 x-318 < 3rgfewr Faa an d s

A. I
B. Fa

C. 9gars
D. WAl
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41, Transformer is used in- a1, A

A. DC circuits only (__ A. ¥R DC g
ircui L i
B. AC circuits only \_~ B, ¥7 ACufer &
. in both DC and AC circuits . .
3 C. ACT4IDC ZHi 9ftaa 4

p. neither in DC norin AC circuit .
D. ACHF1 DC 2t uftad 4 48t

42. The change in frequency due to 42. E= 9T % Fror A 4 ufradT
Doppler effect does not depends on- ol Far &
. Th f the A
A e speed o source W —
B. The speed of the observer

C. The frequency of the source @
D, Separation between the source

B. ¥4% AW
C. FaH Agfa Tt
D. ¥4 Ud 3%F % A= F1 i W

and the observer
13. The work function of metal is hv,,. 43. 91 FFE B hv,, 2179 91 T v
Light of frequency v falls on this AT &1 JFrH ATfad 21 9 A
metal. The photoelectric effect will o £ o afeq et afe
take place only if-
AL v2v,

A vV, :
B. v>2v, @ B. v>2v,
C. v<v, -G Vs
D. v, > ycle

vV<— 2
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v = 1 kg%:
44. In the arrangement shown in fig,, 44. w=Riq =Y, < A T ZoqT 4

mass of A is 1 kg, mass of B is 2 kg Bmgkgam;\qaa%ﬂwq‘i‘"

and coefficient between A and B is

TUTieh 0.2 31 Sl B T O & WA
0.2. There is no friction between B

i A o BH e T4
and ground. Force of friction ‘ﬁ“ﬂ[—qﬁl
between A and B is- A T W B
I A I l A I
B —F = 3N X —F = 3N
7777 7777 : 7777 7 JWF
A. ON A. 0= l 4
B, 2N @ B. 27
C. 3N ‘
C. 3=
D. IN
D. 13
45. Two spheres of equal radii ‘r’ are 45. FuH BT <o 3 3 | TS ThH-gEU
tohchjng each-other. Gravitational el R §) :ﬁ%mwﬁaré
. 4
force of attraction F between them is-
TECTRYYT-S F 0 7H 0l-
A. Fecr?
A. Fecp?
B Foc = .
r By et
© ’
C. Fecr?
C. Focr4
D. Fecr®
D. Fecr®
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4. A cubical block of mass ‘M’ ang 46. 0 T T & T G 79 T
edge ‘@’ slides down a rough inclineg ‘o’ T T30 ‘M 3 G ST ol
plane of inclination 8 with a uniform FH 3 B R g
velocity. Torque of the normal force A by
on the block about its centre hag 5 R 5 R0 7 et Aret o 1
magnitude- I 4% 3 UG 7 A -
A. Zero A T
B. xga a2 B. Mga
G lgasm C. Mgasin
D. ; |

~Mgasin6 |
7 Basih ’ EMgasinB

4. Moment of inertia of asolid sphere 47. ‘R BT 'p' e & G S et
of radius ‘R’ and density 'p* about ts 1 3T T % 1fta: -3t -
diameter is- i

A. 176
A 176 o L PR
——R
105" 105
B. 105 s . B }ﬁPRS
176 @ 176
C 125 o2 . ES‘PRZ
289" 289
D. 289
D, 289 " 2R
12spR 125

48. The relationship between electric 4. i)

5 s o &7 £ fvar vl
ﬁeld E and potential difference V I BT e
is-
A. 5 5 A - b 4

E=-VV = e
B. < = @ ’ E:%}-V

E=V.V
C » » Caidii2

E=VxV E=VxV

D. -
D, -
= Jver E = [Vdr
SPACE FOR ROUGH WORK / % & & ford e
SE2XNY-PRV-JYN M s [HNITAIHRE o sec



1

i

| 49. A car is moving with a speed of 49. 500 m Fsar HIAEHR T

l 30ms~* on a circular path of radius 3030y i < & Ry T B T
f
|
|

500 m. Its speed is increasing at the T 2 il Hayag @ FLH
| rate 2ms™2. What is th i
| € acceleration N

i of the car? -

k A ~3

b A. 2ms™ ams

N

| B. -2

| | B, 2.7ms™2 @ 2-7ms

| .

1. C. 1.8ms=2 C. 18ms™2

i | D. -2

|[ | D. 9.8ms-2 9.8ms :
|

: .

| 50. A normal eye is not able to see 50. {MIRIAF 25cm iirama;ﬂ W TG H

| objects closer than 25cm because- G T a Wif-

A. the focal length of eye is 25 '

| e A. sta Al 25 350, AR E

| B. the distance of the retina from the

I ; B. @ hiaceagiiasas g

eye lens is 25¢cm .

i C. the eye is not able to decrease the C. WwRRmdEm S I, wdew .
I| -
( distance between eye lens and m%*ﬂﬂ?ﬁaﬁaﬁmqﬁiﬁ(
I retina beyond a limit P

D, the eye is not able to decrease the P
focal length beyond a limit D. % I 4T 39 ¥, Wi g

@ N T T |
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PART -1I

2) Chemistry 2) WEaq
51, Nessler’s reagent is used to detect the 51. AT AREmiE R Iukafa
presence of- - qgar % fordl 3wt R s 22
Ay Crg : A. cro}”
B. POy | B. PO
’ V

CaMn0, - C. Mno;
D. NH} ‘ '

NH} . B. ‘s

2. The coordination number and the 52. [E(en)z (C,0 4)]N02 (STeT (en) 3fafer

oxidation state of the element E in S Wi 2) 3 aw i guaEE v
the complex [E(en),(C,0,)]NO, o et S
(where (en) is ethylene di amine) are _
respectively- be A. 633
A 6and3 B. 632
B ‘G 2 @ o Co43R2

4 and 2 :
e D. 43i3
D. 4and 3

3. Which one has a planer structure? 53, e o forurehY e g @2

A. NH4+ , _ . . . A NH4+ .
B, SCl, @ B. SCly
C XeF, - ; C. XeFy
D BF,~ D. BF,~

SPACE FOR ROUGH WORK / % & & forar g
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54.

55.

56.

Two radio isotopes A’ and ‘B’ of
atomic mass ‘X’ and ‘Y’ are mixed
in equal amount by mass. Afier

20 days, their mass ratio is found to
be 1: 4. Isotope ‘A’ has a half life of
I day. The haif life of isotope B’ is:

A.
1-11-!day
X

Bt )
0-11£day
Y

®

C. 0-6237 day
D, 1-10day.

Which of the following polymer is
stored in the liver of the animals?

A. Amylose _

B. Glycogen

C. Amylopectin

D, Cellulose

Methane can be converted into

ethane by the reaction-

A. Chlorination followed by
reaction with alcoholic KOH

B. Chlomnnation followed by

reaction with aqueous KOH /@

G Chlorination followed by Wurtz
reaction

D. Chlorination followed by fitting
reaction '

54. 3 et qrenfE A’ B’

55.

56.

R oy ze X0 @ Y 8,
wm;tgmumﬁﬁ%ﬁﬁ“’h
20 () AT 3 are IHH FATH AW
1 : 4 qrrT T G A’ B
sty 1 R B A AT B

A.
1-11% fea

B. /
0-1% &

C. 0-6237

D. 1-10 f&7

ey 3 & A AT g Sigel & IFa i
dufeq war &?

TR

TATEhISH

T fRA

deqes

R i & 9 o i g =
7 3 uftafda i srawa &

A. FARHIEHTT 3 a1 Teehleforh KOH
{ s

O 0 ® »

B. FIr ¥ a1g sIefig KOH &

rfrferar
C. TR & a1e 3o bR

D. FARHROT & 912 [T sififmn
FALU

SPACE FOR ROUGH WORK / & & & forar srre
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57. The “Group displacement law” was. 57. A8 o fr R i @ e g

g'iven by- IECIRIDI
p Booquers A ¥
Rutherford
D , 0 B WIS
C. Madam Curie ;
- c. gwagh
p. Soddy and Fajan
D. AU G
58. propanal and Propanone are- 58. SIS T SN &7
A Functional Isomers A. rarom garadt
B. Position Isomers @ B. TN A
Geometrical Iso e A
C mers "
D. Optical Isomers
D. YhRitT auEH
59. What is mole.c‘:jxlﬂa: formula of a 59. T Aifirer fraent eard! g4 C,H,0
compound with an empirical formula i WK 88 UM/ B, &1
of C,H4O and a molar mass of 88 @W I
fadaam
gm/mol?
A. CHgO, A. C,HgO,
B. CgHyO, @ B Glsla
C CiHsO, C. C4HgO,
D. O
D. GH;504 C6Mha0s
60. In metallurgical process, aluminium 60. meﬁaﬂﬁﬁﬂqﬁqﬁ
acts as- TE H1 T &
B. A reducing agent @ B '
C. Acidicflux = ‘
¢ A mEs
D. Basic flux ;
D. & IeTh

SPACE FOR ROUGH WORK / {% & & f@ﬁm
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61.

62.

63.

Fog is an example of collojdg]
systern of

A. Liquid in gas

B, Gas in liquid

C. Solid in gas

D. Gas in solid

Reaction of phenol with chloroform
in presence of dilute sodium
hydroxide finally introduces which
of the following functional group?

A, —COOH

B. —CHQ,
C. -CHO :
D. —CH,CI

Which of the following organic

compounds polymerises to form the
polyester Dacron?

A. Propylene and para
HO—(CgH,)—OH

B. Benzoic acid and ethanol @

C., Terephthalic acid and ethylene
glycol

D. Benzoic acid and para
HO—(CgH,)—OH

61,

62.

63.

g ey i 4 P aemse [0 4
3T 87

A, Mtz

B. za¥hy

c. haididm

D. 2w iifiy

feriter “Fy o et @ @

Aftan vramge £ aqfafa i
Frefafir fra Rramer wp @ sig

A. STl a1 80 HO—(CgH, ) - OH
B. S=NF A 941 AT

C. XHfer It aar vl erETe

D. A=iIgH areet aur dw
HO—(CgH4)—OH

SPACE FOR ROUGH WORK / T% &4 & ftvdr g :
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64.

65.

67.

what is false about [Ag(NH;), Ja?

. Itis acationic complex

c. Itis diamagnetic in nature

64. [Ag(NH;), |cI =it & = wrera 87
A WEEAEAFTFAZ

B. Hybridisation of silver js sp2 B. foesi sp? daord

D, It’s name is dJamme silver (1)
chloride

In a triple bond connecting two
atoms there is sharing of:

A. 2 electrons
B. 4electrons '
C. 1 electron @

D, 6 electrons

Which one of the following does not
decolourise an acidified
KMnO, solution?

A. SO,

B. FeCl, @

G H0;
D. FeSO,

Which of the crystal systems
contains the maximum number of

Bravais lattices?

A. Cubic

B, Hexagonal @ '
C. Triclinic -

D. Orthorhombic

9-)'

C. &l g wegfer 1 2

D. Sﬂmmm(nm

65. gwmﬁ%maﬁwﬁrr@mﬂaﬁ
A. 2 a6t
B, 4 AR i
C. 1SciaHH
D. 6 SelagHl i
66. =% = AT KMnO, ﬁr—mﬁ
TR 72 Far?
50,
FeCl;
H,0,
FeSO,

o N = »

- 67. Gay AR A9 S i ge 5
frea aqem A Bt &2

YR
LrCaing

~~

Bara
. faguerena

O N @ »

SPACE FOR ROUGH WORK / T& &4 & ford &g
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e .

i # B Y

63.

70.

CH,C00C,H (aq) + H,0(4)—H (29,
CH,CO0H(2q) + G, H;0H(aq).

What type of reaction is thjs?
A. Unimolecular elementary
B, Pseudo first order

C. Zero order

D. Second order

Tttaninm shows magnetic moment of
1.73 BM. in its compound. What is
the oxidation number of Ti in the

compound?
©

A +]
B. +4
g 3
D. +2
Sy 1 reaction of optically active alkyl
halide leads to-

A, Retention of configuration

(0

C. Inversion of configuration

B. Racemisation

D. None of these

69.

70.

H' (aq)

CH;CO0C,Hs(ag)+H,0(4)
CH,COOH(aq) + C,HsOH(aq)-

sfubrn frm yER 182
A. TTafi g
B. TH YA &I

C. JAHR

p. Edm=ife

TR S AfF A 1.73 BM.
gty gl wefia war 8 @ A
T erfian i smadiaRoT Jawn gt

A. +1
B. +4
C. +3

B, 42

YT & Wi Rl Torga sarss ¥
Sy 1 SRR ZRT BT &

A. Stfa=TE T saiEda
B. YeftsfiaRoy

c. fauda afrfemma

D. FHARE T

T S e g . AR 0 = i bt

SPACE FOR ROUGH WORK / T &/ & f srg
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7L The SacolySe decomposition of

é}ﬂm -mduz:hp;_mm

A radacthonof H°
S aodsSmof SO /)
1\..-’"

C reduction of SO
O. oxdsnon of H,0

mmﬁfsez‘m AP is Dot so
close bt they show Gasons)

relstaceskap doe to-
A Dsﬁ‘u‘xgcﬁmwmwdmgt

.s- D- -—I - -

C Simiar charpe per amit srea @

D. Nooe of these

2 5,2 re=sctions, the correct order of

reactivity for the following

compor=ds 1s-

GO GLEELA(GL,

COiGLLC-a

2 {CLhLoEa>OLoLa>
GLO> (G C-a

2 GLO>{ayL),cHa> @
L GL O> {01 C-a

G GLO>GLGLa>
(GLhLGi-a>(aL)c-a

D. GL-C5,—a>a4L0a>
(GLLGiAa>(Ghi-C-a

71 SR e Fam o SeiE

+ g e e d 4
«'ﬁa’%m?—

A W wswEE

B. 50}~ w sl

C sol mawm

D. H,0 F F=dE

Be?* & AP* FT TR GF TR T 2
g iddr =Rt wIE.-

A R TwE FhER ey

B. hF R S

C. ufd 30 §F WEHH &89

D. FHATETE

52 ST S via Fefafaa difet
f arlimardd & —— 7

G0, G OH,4, (CH;),

cHa(cH;);C—d

A (G CHA>CH; CHA>
G a>(G)C-a
B. CHyO>{CH;),CHA>
CH; CH, O > (CHy);C -l
C CH;O>CH—CH,d>
(G, CH-A>(CH;zC-d
D. CH;—CH,—d>CH;A>
(CH;), CH—A>(CH); —C—-aA

2B82-XNY-PRV-JYN-M
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hedl
74. For a dilute solution, Raoult’s Law 74, G e & fyu TrIegd A :

states that: £
A. The lowenng of vapour pressure A ATNRTE G, SEUE R TS
is equal to the mole fraction of AE L
solute v 3
B, The relative lowering of vapour B. aogara 3 SRS S e
pressure is equal to the mole RYeT TS ¥ T BT 8
fraction of solute : N
C. The relative lowerning of . ¢ 4 2 )
relative lowening of vapour e F
pressure is propertional to the e v
amount of solute in solution D. ﬁwqﬂwﬁam%tﬁa i
D. The vapour pressure of the TV & SO AT 8
solution is equal to the mole
fraction of solvent _
75. Which of the following processes are 75. By @ ahET AgS WAL S
used for extraction of Ag from ﬁqﬁ‘u‘;ﬁg‘ﬂ;ﬁaﬁ%’)
AgyS?
: A. T fafy
A. Cyamde process @/ Sy
5. Tk B. &S
C, Mexican amalgamation process C. A e A 7
D. All of these D. IWh &t
76. Identify Z in sequence of reactions- 76. il & wa i Z 9 wwaiRe
HBr
CHy —CH, —CH=CH,— o CH3—CH2—CH=CH2T:B;—:‘;—)
y Gtisone 5 yS2hoe o

A, CH3—(CHy)3-0-CH, —CHy
B. (GHy); ~CH-O-CH,—CH,
C. CH3—(CH,;), —O0-CH, |

D. CHy—CH, —CH(CHy)
~0-CH, -CH,

A. CH;—(CHy); —O-CH, —CH,
B. (CH;), ~CH-O-CH,-CH,
C. CH3—(CH2)4-0—CH3

D. CHy—CH, ~CH(CH;)
-0-CH, —CH,

SPACE FOR ROUGH WORK / 7% &4 % fordy a7 k

s - PRY-AYN a - I o s
Fur



77. Considering the element B, C, N, F
and Si the correct order of their non
metallic character is-

A. B>C>Si>N>F

B, si>C>B>N>F

©

c. F>N>C>B>5i
D. F>N>C>Si>B

78. Compounds of alkaline earth metal

are less soluble in water than the
corresponding alkali metals salt due

to-
A. Their high ionisation energy

. Their low electronegativity

®

77. B,C, N, Fud Si awii 3 spirediss o0
1 e 61 2-

. B>C>Si>N>F
Si>C>B>N>F

A
B.
C. F>N>C>B>Si
D

. F>N>C>Si>B

. vl g, g i e eget
¥ AR v i 0 R Be E il
A. ST I A A

B. eI T feregar RoTIerehall
C. T e STt i

C, Their low hydration energy b srT= -
D. Their high lattice energy
79. An clectron travels with a velocity of 79 wwsa®M xms™* HFAMH JFT T Bl
xms > . For a proton to have the @M%Wwﬁmw
same de-Broglie wave length, the ﬁ%mwﬁah:
velocity will be approximately:
A. 1840
A. 1840 —;—
X
&_ X
e K 1840
1840
C. 1840x
C, 1840x _
D. x
B: x .
SPACE FOR ROUGH WORK / 1% &t & fory e
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: A A
80. Which of the following is formed 80. Wﬁwﬁﬁm :

when lithium is heateq i air?

AT R?
A. Only Li,0 A. 99 Li,0
B. Only Li;N B. 3T Li;N
C. Both Li,0, and LisN @ C. L,0, @ LisN el
B Both Li,O and LizN-

D. Li,0 wd Li;N

81. Which one of the following is an 8L fofufga ¥4 P ar ARENTH &
example of adsorption? IR X9

A. ST ¥ H9h H A
B. wie % am feler caqy,

A. Ammonia in contact with water
B.  An hydrous CaCl, with water

C. Silica gel in contact with water

i o R S
o C. It 919 | &
D. All of these D. 3T ot
82. The standard enthalpy of formation 82

* Octane (CgHyq) T HIHH ¥ IO
of octane (CgH,g) is — 250 k}/mole.

250 6. S@/MET 1 CgHyp F T
Calculate the enthalpy of combustion & o i) safE CO,(g) &
of CgHyg. The enthalpy of formation EET ST FET: -394 B
of CO,(g) and H,0(£) are -394 :_f_;g_l{i i 6:;3@% |
kJ/mol and -286 kJ/mol respectively: % ‘ ; _
A. -5200 kJ/mol A. ~5200 &5, Sgei/erer
B. 5726 kJ/mol ' B. 5726 . Swnitar
C. —5476 kJ/mol - €. 5476 . @i
D. =5310 kJ/mol D. 5310 f%. S/ .
83. Peptide bonds are key feature of- 83. ITREHY T T R
A. Polysaccharides ; _ A. Ui
B. Vitamins @ : "1 e
C. Nucleotides ; e m
D. Proteins '
D. WA

SPACE FOR ROUGH WORK I % T & oy v

sen vy g Bl S LTI




L Forsm cgalio== 8 o Lo/ 04, =
-G =3
woisi—"% Olf), wisch of == sE SiES—= e &
Ellowing saft=ents & tree? A SRS =
iFect the equilibrizm (<) _
_ . A B SEEwTEN R A
5 More of e mels f pressme on _ i
| the svsi=r= is imcreased =Rt
c More of Bgad freezes if pressare C EERTEsE RO s
n : chenecs y - =
- mgf: N ;m feeree of D. =% SRS Y Nl = T =
Q\mﬁﬁem ) &= Qmiﬁ'@ﬁ?ﬁ?%
S In the clectrorefining the impere 8. SEaTwlSgETI ST
met=l s made- \ A e
- Cathode /= X
i (H) B
B Anode Nt -
C Both(A)zmd (B) c S (AQIRB)
D. Nooe of these D. FHE RS
the following reaction is —210kl'mol. 20 Mmal AR TS NS
mm:srlrsmdmﬂceﬂpfwmﬂ?. =
2:,0,{aq) > 2H,0{}+ 0, (q)
: 2H,0,{20) - 2H,004)+ 05 (q)
A =072
@ A 0752
B. =100 { _
g B. +1.09
C +0420
C 0420
B. +0640
D. +0.640
SPACE FOR ROUGH WORK /TE TR S o =g
0362-XNY-PRV-JYN-M 3

- WA © s

;



* Mt 1 Ehe narmal oleeular

mass i ot s the dogree of

i Eaton off !'\,lb'a{(‘..NL,]\ then the
abnormal molecutar mass of the
complan 1o the solution will be:

A\ Miaimart ) '

N N\\ou\mu +3) 4 C\ﬂ
C“-‘ h‘\muml(l o) . v

0, ]"tl\l&l (A} N\h\ﬂl\il

87,

i Ky [Fe(CN), ] @ pnar an{vams
REME *Myomat " Wt : 3“111““““‘
R A, ) sy 6 e
arnrE o e T\

-1
A, Miarmar(t +2a)
B, Mm‘n\alu + 3"')“1

-1
c Miormal (1 +a)

D. Mygumat % TR

88, A fiest onder reaction is 509 88, @ wm mIR s 27°C W 20
completed in 20 minutes at 27%C and W T 47°C W5 e 50% i el
S minutes at 47, The energy of
et ) oo : Y wliver Il -
activation ot the reaction is- il

89,

Ao 43.88 Kol
B, 33 14 K)/mol
G, L7 KJ/mol

F
o

®
D. 6.65 K)/mol

The weakest acid amongst the
following is-

A. HCOOH
B. Cl-CH, -COOH

C. @, ~CH-COOH

D. Cl~CH, ~CM, -~ COQH

89,

A. 4385 fEsEma

B. 55.14 ﬁn.qam\q

C. 11,97 frs@aie

D. 6.65 f%3Emer

Bt 3 2 e o v e o @
A. HCOOH

B. Cl-CH,-COOM

C. O,~-CH-COOH

D. Cl-CH,~CH,-COOH

SPACE FOR ROUGH WORK / Y& Rt % oy arrg
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90. [q the closest packing of atoms:

. The size of tetrahedral void is | p. TaEEa Wi ) AT A
g“.; fliat thst of actebiedod #raT 2 = weardE T 9
voi

g, The size of tetrahedral void is B. FqETHIa Riteal #1 AR 21
smaller than that of octahedral W%ﬂwmﬁ

L C. TgEH Rt 1 ATFR JTH

g fbest ok uttaud voul 1y SraT 2 =0 s R &

*  equal to that of octahedral void

p. The size of tetrahedral void may D. Wﬁmamm
be greater or smaller or equal to areaEa e S AER & 93,
that of octahedral void depending ST 47 S 2N, U8 30 THY F
upon the size of atoms s g EnR BT 2

91. he hydration energy of Mg”* ions 9L g2t sy £ e Ao 31 [ad

is higher than that of- SRE eI 22

A APt .

B. gelt @ B ot

C N | C Na*

D. None of these 0. wE A FETH

92. The major product obtained by 92. 4 faEad= 1 7 E HBr F1am
addition reaction of HBr to 4- W@Eﬁmﬁﬁﬁﬁméﬁ

Methylpent 1-ene in presence of WHE@WTEE'\’H?

peroxide is-

A. 1-Bromo 4-methyl pcntzme@ A 15T 4R A

B. 4zl 2-Frarda 4=A

B. 4-Bromo 2-methyl pentane

C. 2-Bromo 4-methyl pentane
D. 3-Bromo 2-methyl pentane D. 3w 2-Fgrda =

SPACE FOR ROUGH WORK/ 6 S & [ T8
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93. Which of the following oTganic 93. A AYF G FEES D Lo
compounds answers both jodoform STEEIER] ot SEfeRT Al T < )
and Fehling test?

A. Ethanal A T
B, Propanone P' B. WA
C. Ethanol C. TH
D. Methanol : D. e

94. Acidified K,Cr,0, solution turns - AR K,Cr, 0, faerT i Na,SO3
green when Na,SO; is added to it. frem w frg Qs S R H RO
This is due to the formation of- B AT 82
A. Cr, (504)3 _ A. Cr (504)3
B. croZ- @ B. crot
C. Cn (503 )2 C. Crz(503 )z
D, CrSO, | D. CrsO,

95. Which of the following molecules . Fefrfag At T a s aaf=d

96.

represent the order of hybridisation
spP?,SP2,5P,SP from left to right?

A HC=C-C=CH

¢ § 2rd Haor T SP2,SP2,SP,SP
)

A. HC=C-C=CH
B. CH,=CH-C=CH @ B. CH,=CH—C=CH
C, CH.2=CH—CH=CHz C. C]-|2=CH_—C|"|=G"2
D. CH;—CH=CH-CH; D. CH;—CH=CH—CH,

When freezing of liquid take place in

a system it is-

A. may haveq>0o0rq<0
depending on the liquid

©

Al s A Adtaas

A. q>0dTq<O0BMIATZA Rkt
Eoull

B. isrepresentby q>0 B. q>0m93f3fﬁ%.
C. isrepresentby <0 C. g<OEUWRIGE

SPACE FOR ROUGH WORK / & &1 & i sme.
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97. The most suitable reagent for the g7. Frafifae afad % forg wad 390G
conversion of R—CH,OH—>RCHO is atfEe - B

A. CrO3/HS0, ' R—CH,0H—>RCHO

B. PCC A Cr03/H;S0,
B. PCC

c, KMnO,4/KOH

D. K;Cp07/H;S0, C. KMnO, /KOH
D. chr207 / H25'04
98. The hybridization of carbon in 98. &R, ipree ud wHifeeh A HET
diamond, graphite and acetylene is T SFAET: & '
respectively-

A. - S,
A. spsp,sp’ sp°,sp,SP
B. sp,sp’,sp°

B. sp,sp’.sp’ @
C. sp’,sp®sp

C. sp3,sp%,sp
D. sp?,sp,sp
Do sz’sps’sp p r p 7 p

99. On the basis of Bohr’s model, the 99. SRTEAD e R el s i B

radius of the 3rd orbit is: 2
A (l::i:taltotheradmsofﬂ]eﬁrst . A o BT
B, Three times of the radius of first B. Wﬂﬁﬁwﬁﬁ@ |
orbit - C. oy ey <y frsar o e T
C. Five times the radius of the first _- - -
orbit D. wom g & A AR
D. Nine times the radius of first
orbit

SPACE FOR ROUGH WORK / T S & R g
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i -10
100. The solubility product of AgCl is 100. AgCl F1 feigar w10 1007 3

i 1071°M? . The minimum volume in 14.35mg AgCl F dictt % ST
1 & (m>) of water required to dissolve HAEESH AaH ATIAT (m’ A2
14.35 mg of AgCl is approximately: (@) -
:,i; ' A. 0.01 A 001
{if , . U
i B. 0.1 @ -
1|\‘ c 19 : 100

; D. 10 | '

i
Ll
il '
.‘.!Ii.. ~
\i
i
i
|

'i

i
i
I
i
ERg
i |
| SPACE FOR ROUGH WORK / T& & & forid s
111
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3) Mathematics

101. 15 b, and b,y are both positive,

then-
A. _]Z._+_1_<3
bw bw r
B 1,12
bvx bxv r %
C: 1 1 r
b\m b_xv 2
. 1.1 _,
bvx bw

102. Degree of differential equation
93!——7[ ] —Jx =0 is-
dx

dx?
A. 3 o
B, 4 @/‘
c 1

D. None of these

103. In a conference, every delegate
shakes hands with every other
delegate. If 300 handshakes have
been counted, the number of
delegates participated in the
conference is-

A. 20
s
C. 30
D, 35

PART - 1II

3) i

101. AR by, 3R b,, W w0 & @-

102.

103.

A. 1+
byx

2
<—
r
E_
¢

>

L
2

A
byy
2
by
=3
By
hi.—.l

1
4
B

1
—
by

1
—

B

“‘3§ ( d)j Jx =0 FTHE RN

dx
A 3
B. 4
C. 1
D. FHARETH

T F i f, T N st ga
wfaffer & gt fremar 1 afe 300 s e
ToreTrT T &, A EEH § 9RO AT
yiaffri i deane-

20

25

30

35

O 0N ® P

120362-XNY-PRV-JYN-M
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e AL LS

104, 104, o qftany
Function y = s increnses jn the RISE| v:__x_ B8 3T<ﬂ1?iif 0%
logx logx
interval- B
A (2,) | A. (2, )
B. (1,) &\\\ B. (1,c0)
C. (0, ) _S C. (0, )
D. (¢, ) D. (e, o) 05
105. - " <y 105. i 3 2
i tri = 1S- IA= =
1C matrix (_3 L HE A [_3 o
A. Hermitian o, A. &
B. Skew-Hermitian kb\ B. Rwafifdy
C. Non-singular - C. sqasvit
D. Options (B) and (C) p. frew (B) 7T (C)
106. No computer can do anything 106. 18 Wi YR —- R g R
without a- © T
A. Program -y A. S
B. Memory {!\\ B. Ay
C, Chi | ' 1
P : C. diu®
D. Output device
D. eye Rara®
107. If the product of three numbers in GP~~ 107. T N 9 g & 216 W
be 216 and their sum is 19, then the RECARI|L] 198, A FRW -
numbers are-
A. 4,6,9 ~ % S
B, 4,78 \[\\ B. 4,7,8
’ C 3,7,9
c. 3,79 A
D. None of these D. TR
SPACE FOR ROUGH WORK / T T & vt wmg —
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108, A computer can execute-

A, aflow chart

—,\)
B. aprogramme O’z |
C. an algorithm

D. all the above

109. If ()= f(x)+f(1—x), f*(x) <O for
0<x<1 then-
A. ¢(x) -decreasing in [0%]

B. i % .. |1
¢(x) 1s Increasing 1n [E' 1]

D)

G ¢u(x)hasminimaatx=-:—

D- 310 increasing in [o,%]

110. The order of differential equation
whose solution is given by

y=(cy +¢3)cos(x+¢3 )—ca€" s,
all ¢; are constants-

gl JPTN
b |
By S @

C:3
D. 2

109.

110.

108, TR PRI AT

A, TETAER
B. T&H VUM
C. & Uniay
D. J9ih avt
R é(x) = Flx) + f(1—x), 7T 0 <x<1F
forT £"(x) <0 @=-
A é(x), [o,%] T g
Fo Bl
R (x), B— 1] 3 i S 81
“ % R ¢(x) =2

O s, [o,%] ﬁqﬁaﬂmﬁ;ﬂl

o ST T R AR -
e |
y=(cl+cz)ms(x+c3)—c4e*+°5 Ed
TR Raramar g, s wft ¢ FHE-
A 4

B. 5

C 3

D. 2

0362-XNY-PRV-JYN-M s TR & seec
. ! ’
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111,

2. B 111, Q. i dy
| XT -y dy . A X =Y | _jopz W — 7
If cos 1 =logz then — is afe cos =logz E e
[xz +y2] £% ien dx _ x2+y2 dx
equal to- T Bol-
A. i A. x
v v
B Xz e ~ B. xz
C. 1 e C. 1
Dy D. y
X x
112. If p and q are the roots of 112. AR pud q, x* +2px+q—-6=0 %i{c'l
x2 +2px+q—6=0, the value of p &, A p 1 I TR &-
equals- ;
A L2 A. 1,2
B _’1 2 /.?‘f B. _1,2
c; o8 2 c L2
v D. -1,-2
D. -1,-2
113. The angle between a line with 113. ﬁrﬁjﬁ (3, 1, 4) 91 (7, 2, 12) ! fiem
direction ratios 2:2:1 and a line E I RIERE I LR G ‘E{m&;ﬁqz‘sﬂqm
joining (3, 1, 4) to (7, 2,12) 1s-

A 2)
cos | =
3
B. (-
cos ™ —3) @
\ 3 /
& ol 3) |
cos~t| =
\ 2

D 4
7 cost —2]
\ 2

2:2:1 3, % W VT Q-

A. 2
1( )
3

SPACE FOR ROUGH WORK / 1% & 3 fordy s
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114, when ax+by+cz=p then Minimum 114 x* +y? +2? F1=aq 9H, S

value of x2+y2 +22 is- ax+by+cz=p (4
A. P A. p

Xa 2a
B, o B. p

za? s
C. x4 C 32

B P

D. 0 D. 0

115. One root of the equation 115. grfgor %3 —5x+1=0 HTTH A
x> —5x+1=0 must lie in the AT o BIT-
interval-

A. (0,1
A QD Rl
XY B. (1,2
B. (1,2) \ (1.2)
. C. -1,0
c. (-1,0). L0
D. (1, 1
D, (1, 1) 3.

116. In three dimensional space xyz, 116. Rfefia T xyz § TR0
equation x? —5x+6 =0 represents- x2 —5x +6 = 0 Wi ar e-
A. POiﬂt ' e
B. Pl o B o

= ane ~
Q;) B. THGW
C. Curve _
C. 95

D., Pair of straight lines

D. W&rgm

SPACE FOR ROUGH WORK /& & & fordr s

X(x -3) -3(x~3) ! >
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117. o TIRE € . 117. PR L
Let A=—i+]+k;B =2{+3k The AT A =—i+]+k; B =21 +3k. iew
T - -
vector C is coplanar with A and B . E,‘Hﬁ-‘ﬂ X o B Hum @Ry
- -
If C and B are orthogonal and aR C qur B ciawmiia ¥
- > -3 & 2
C-A=-76 1S- > -
then Cis- . C-A=—76 drafew C 2
A. 'y 4 *
30i —26j—20k n . 2
‘ N A- 30i—26]-20k
B T it
30i +26j—20k Im - o C
J @) ‘B 307 +26]—20k
G = - s
30i+26j+20k 4 .. "
’ C 30i+26]+20k
D. None of these :
D. FTHAFHE T
118. . cosec x _ 118. cosec x
lim —_— Iim —— "~ =
X—® cot "X X—ao cot_1 X
A. 0 : ' A. 0
v
B. 1 \% B. 1
C. does not exist C. HISETE
D, -1 D. -1
119. sin(m:oszx) 2% I sin(ncoszx)
lim = im- —
x—0 x2 _ x>0 « _x?
A. T _ A= 4
B, m/2 @ B o®[2 .7
C —-m C. —=x
D. 1 D. 1

SPACE FOR ROUGH WORK / T& & & fordr g
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120. A typical modern computer uses-

121.

A. LSI chips CA/’

'B. Magnetic cores for Secondary
stage
G Magnetic tapes for Primary
memory

D. None of these

For what value of A is (A"i—u)

6 -2 2
singular,if A=|-2 3 -1|andl
2 -1 3

is the third order unit matrix?
8
C 1

A 2 -
2

B,
D. None of these

The equations to a pair of opposite
sides of a parallelogram are

x2 —5x+6=0 and y* —6y+5=0.
The equation to its diagonals are-

A x+4y=13 and y=4x—7 -
B. 4x+y=13 and 4y=x—-7
C. 4x+y=13 and y=4x—7
D. y—4x=13 and y+4x=7

G

120.

121.

o faf¥e smmegfen s 39 e 8-
A. LSIfau |

B. faxfra <o 3 ford garhia

C. WRfbwr uivdt 3 ford garehia 20

D. IRIH § ¥ g el

A ¥ for o % fore (A"—M)
AT 8, Al

6 -2 2
A=|-2 3 -1|au]ga i

D. T IS T

. foreft = T <t foadia g

SR o G x? —5x+6=0 34K
y? —6y+5=0 &, 37 farehori
TR Ei-

A. x+4y=13 991 y=4x—7

B. 4x+y=13 T4l 4y=x—7

C. Ax+y=13 T4 y=4x—7

D. y—-4x=13d9l y+4x=7

SPACE FOR ROUGH WORK / & &1 & ford e
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123. Area bounded by the curves
y=x, y=|x-1| and x-axis is-

A

Nl B

( {\ 'J
c 1
Q' None of these

124. If o and B are the roots of the

equation 3x* —2x+6=0, then the
equation whose roots are

a+l B+1 ;

a-1" -1’

A. 7x*—6x+11=0 C
B 74 Ge-11m0 -
C. 7 +6x+11=0

D. None of these

125. 1

e

Sl o s o Tt & e e

1+x5

0 1+x

d

3
o\ x
D\

D. 1

123,y y-p] st ARE

&1 BA%e BITI-

o
= N[= A=

C.
D. T & HIg TN

128 ofs o o B, wefT 3x° —2x+6=

+1 B+1,

areln
__:]_B].I]?T

Fom @y 4L
grfie -

A. 7x? —6x+11=0
B. 7x?+6x—11=0

C. 7x?+6x+11=0

D. T A i T

e e e R R e e i

20362-XNY-PRV-JYN-M

SPACE FOR ROUGH WORK / T% & & ol s
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126. If the points (1, 3) and (5,1) are two
opposite vertices of a rectangle and
the other two vertices lie on the line
y =2x+c, then the value of ¢ is-

A 4 | /
s (8

128. A unit vector perpendicular to both

i+jand j+k is-

A- -E('i'—'j‘-!- I:)
3

126. 17 (1, 3) 3R (5, 1) ws 3rmaa & fawdia
it 1 Sy S et Y y =2x+c W Rua
2, T4 ¢ &1 ¥ 2m-

A. 4
B

C. “2
D
127. .

gfe a=sin_1£+sin"1-;- 3t
1 J"

;B =cos™ Y= tecost 3 ‘c"ﬁl’-

A. a>f
B. a=p?

C. a<p
D. a+Pf=2n

128 5 0wy Sk % iere 3o Ghew 2-

A 1('.‘ 3+i:2)
) 3

e )
3

0362-XNY-PRV-JYN-M
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A

129,

130.

131.

Line 2x+y-9=0, which of the

following is the normal of the
parabola?

A. 2_4)(
V=3

B. y?=ax KV\

C. 2 16)(
V=3

D y?=3x

The vectors 3i+5]+2k, 2?—-3}—5ﬁ
and 5i+2j—3k form the sides of a
triangle which is- F—u

A, equilateral A

B. 1sosceles, but not right-angled
C. nght-angled, but not isosceles

D. right-angled and isosceles

-
/

If cosx—sinx=1and 0<x <2rthen
the solution set for x is-

A. [ = [ 7n
-O:Z]U -Tl 2“]
.B.h —3'R 71'(-
==t 0
SR
“ 13 2 |uie
0 -7-43, 2n |U{o}

129.

-130.

131.

e 1 e ¥

A. z_i?i
Y =3

1
|
@ 2+y-9=0 REAAFTY ‘

afRw 374542k, 2§ —3j—5k @m
5i+2j—3k YT A

A. TETE

B. - TWfeag, wifer wwahion 7l

C. HWehWT, AfSFT qafReg T

D. WHHIUI TS Twfgamg

Ife cosx—sinx>13MR 0<x <27

T x < W=a4 T BI-

A. [~
| - 4 4

U {0}

i 2n U {o}

> [-73 2 |U fo}

SPACE FOR ROUGH WORK / T &t & forat g o
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132. The probability that A speaks truth is 132. A % o die Y i % @B

4 Lo
E’ B speaks truth is —Z— The

= wie Y airew % ANTHTF
probability they contradict each other
’ AT A 7
20 20
A\
B. 1 @/ B. 1
5 5
C. 3 C: 3
*20 20
D. 4 7 D. 4
5 5

' 133. A finite sequence of steps needed to 133. fart gua =l 56 A o (oTg AEaTH

solve a problem is called- =N F GRS 79 I el ST 8-
A. aprocess @ A, T BT
: thod of solution - ;
e s B. U &d & il fafer
o an algorithm
C. Th Uil
D. aflow-chart
- D. THTHER

SPACE FOR ROUGH WORK / T& & & fera s
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134.

135.

136.

The volume of the parallelepiped

whose edges are represented by the
vectors-

C. O

D, None of these

If sinB, —sinB, =a and
cosB, +co0s6, =b, then-

D

The process of Newton-Raphson is-

A. a24+b?24
BJ 32+b254
C. a2+b%2>3

D. 324b%<2

A. Linear convergent

B. Quadratic convergent @
C. Cubic convergent

D. None of this

134, e wgmer foradh R T Ay

frefa ®:

=+ . . _f
a =2i-3j+4k,

-~
- ~

- 2
b =i+2j"kt
- - & ~
c =3i—j+2k
I AT &

C. 0 |
D. T UHR el

135. 3fe sin@; —sin, =a 3R
cos@, +cosB, =b, d-

A. 22+b?24

B. a?+b%<4

C. a*+n%23

D. a%+b%<2
136. F[A-UHE <t WA Bl &
© A YRge arbrRar

B. Teumdia sifvenfear

c. Fuardia sifrrfar

D. T A T

SPACE FOR ROUGH WORK / TG & & ford g
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137,

D.

e
The value of I |logx |dx is-

1/e

2(1-€)
2)

3
() &

2(1+e)

137.

e

j ]Iogxldx aTI-

1/e
A. 2(1-e)

o
e

D. 2(1+e) '

138. The area of the quadrilateral formed 138. 2 v T '
by the tangent at the end points of T ?4—_5':1 & sfrer <
latus rectum to the ellipse R gy el & Fififa sl &1 deed

2 v _
¥ oy -
9 5 . .
' Ty ) A. 27 .
A. 27 - =t
%— sq. units @ 4 gah'lﬁ
o
B. 9 sq. units B, 9 e
ST C. 27
C. =
-2-2-7— sq. units 2 R
D, 275q e, D. 271 36
139. If z, =1-iand z, =—2+4i,then 139. 3t z; =1—i 9AT 2, =—2+4i, A
b (z—iz—z] is- 7 1,.,[31_’—2) 2
4 r. N4
A 4 ~ A.
C. 2 Gy 2
D. 4 - D. 4
SPACE FOR ROUGH WORK / T &t & ford 7g
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140. The value of log (i)

A X
2
B. T
2 /N\
C. @f
2
D"Ei
2

141. x3 —7x2 +16x—-12

lim _ ise
x—2 log(x~1) sin(x—2) Talio-

140.

141.

log (~i) 17 &-

A ™

——

2
(.
2

C. i

2
D. =.
—i
2

R e
m X=X H16X=12 v
x—2 log(x—1) sin(x—2)

A. 01 A. 01
B.O @ B. 0
C. -1 C. -1
D « D. »
142, 142, 1—xtr? .
The greatest value of f(x)= f(x)= ——— <1 HEWH HH BII-
1+x+x
is-
A 1
A. 1 B
7 - 1
B 1 :\ 3
3 2
C. 3
C 3
D. 0
D. 0
'SPACE FOR ROUGH WORK / TG &4 & ey
20362 XNY-PRV-IYN-M i 1L TR T T ——

e ———




143, I e ST, i<
I 3+2isin® . 143 afs 3+2isin®

1sa 2FASINY o areafires GEAT 8 3
T real number and 1—2isin® |
Q<6 <2x, then © is- 0<0 <2y, a9 O FIHH B-
AN T A. 1
B. =
T o B. T
> W o B
&5 T * C =
3 3
D. T D. &
6 6
14a. | 144. .
1if A+B=%,where A,B,eR" . then HﬁA+B=%,Gﬁ»’I A,B,eR*,qd
the minimum value of (1+tanA)(1+tanB) 1 ~AqH HH
(1+tanA)(1+tanB) is- -
A. 2 A. 2
C. 1 i
C. 1
D. None of these )
. A D. T Q)5 TN
145. [f the straight line y =mx is outside 145. gfe W W@ y =mx, 30
the circle x*+y? —20y+90=0, x* +y? —20y+90 =0 F T B Tqa-
then-
A. m>3
A >3
a2 A @ " B. m<3
B. <3
S (o |ml>3
C. |m>3
D. |m|<3
D. [m|<3

SPACE FOR ROUGH WORK / W& &/ & ford stz
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g -« =

146. If the sum of two unijt Vectors is A

vector of magnitude 113

146. 7f 2 o afewil % AR IRy
~ 5 then the qﬁqm%@%,?ﬁﬁqﬂqm%

fmgle between the two 8iven vectors

& ey 17 8-
A. 0 A. 0
B. B X
3 2
C'n .p" < 2
> W 2
D n D. s
e 6
147. cos9°4sin 9°_ 147. cos 9°+sin 9°
cos 9°—sin9° %

A. tan26° /T

% A.
B. tan81° @ J

B
G, tan51° <
D, tan54° D.
148. The area bounded by the curve 148
y2 =4az(x-1) and the lines x = 1,
y=4ais- '
A. 432 N
goa > )
3 _
C. 163? -
3
53 D.

y=

cos 9°—sin 9°

tan 26°
tan 81°
tan 51°
tan 54°

" T v =4a’(x—1) 3R E@RI x =

4a & o % =1 Sawer BT
4a?

162
3

20362-XNY-PRV-JYN-M
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1 149, The equation " 1 4% -2 =0 hac

g
B

e p e T R e e e e S

143. gl o* Ly x -2 =0 F AT

| 20362-XNY-PRV-JYN-M

A. Infinite rcal roots A. T awafrE
B. Two real roots | T o
C. « Three real roots [ & & "
.D. One real root o, 7 Il!il|§-’dq§
150. : : 150. 111
o b il w3 e e £ 21 %
23 et o b=t _
abc a-b =
ad 2 A. 2
‘ gy c
=5 T /E"/ B. b
a k -
= 2 C. a
b b
D. ¢ b. ¢
. s
B SPACE FOR ROUGH WORK / W erd % fovd wrg

s ITHHITHNIRIEN o« sac



